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Determine which choice shows the expression used to solve the problem.
1) A group of five friends were playing video games. Later six more friends came over. How many

people were there total?

A. 5 + 6 B. 6 - 5 C. 5 × 6 D. 6 ÷ 5

2) Debby was buying hand towels for her house. She bought four packs with each pack having seven
towels in it. How many towels did she buy?

A. 4 + 7 B. 7 - 4 C. 4 × 7 D. 7 ÷ 4

3) Paul bought five books at the book fair. If he gave two of them to his brother, how many books
did he have left?

A. 5 + 2 B. 5 - 2 C. 5 × 2 D. 5 ÷ 2

4) Tom made eight dollars mowing lawns over the summer. If he charged four bucks for each lawn,
how many lawns did he mow?

A. 8 + 4 B. 8 - 4 C. 8 × 4 D. 8 ÷ 4

5) An architect was building a hotel downtown. He built it five stories tall with two rooms on each
story. How many rooms does the hotel have total?

A. 5 + 2 B. 5 - 2 C. 5 × 2 D. 5 ÷ 2

6) A delivery driver had to deliver eleven packages. At his first stop he dropped off three. How many
packages does he still have to deliver?

A. 11 + 3 B. 11 - 3 C. 11 × 3 D. 11 ÷ 3

7) Cody was helping his mom wash clothes. They washed two loads with nine towels in each load.
How many towels did they wash total?

A. 2 + 9 B. 9 - 2 C. 2 × 9 D. 9 ÷ 2

8) The mailman delivered fifteen pieces of mail to a house. If seven of the pieces were junkmail, how
many pieces were actually good?

A. 15 + 7 B. 15 - 7 C. 15 × 7 D. 15 ÷ 7

9) Ned was playing dodgeball with his friends and scored sixty-three points total. If he scored seven
points each round, how many rounds did he play?

A. 63 + 7 B. 63 - 7 C. 63 × 7 D. 63 ÷ 7

10) George was yard sale shopping. He ended up buying six video games, but only two of them
worked. How many bad games did he buy?

A. 6 + 2 B. 6 - 2 C. 6 × 2 D. 6 ÷ 2

Answers

1. A

2. C

3. B

4. D

5. C

6. B

7. C

8. B

9. D

10. B
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Determine which choice shows the expression used to solve the problem.
1) A group of five friends were playing video games. Later six more friends came over. How many

people were there total?

A. 5 + 6 B. 6 - 5 C. 5 × 6 D. 6 ÷ 5

2) Debby was buying hand towels for her house. She bought four packs with each pack having seven
towels in it. How many towels did she buy?

A. 4 + 7 B. 7 - 4 C. 4 × 7 D. 7 ÷ 4

3) Paul bought five books at the book fair. If he gave two of them to his brother, how many books
did he have left?

A. 5 + 2 B. 5 - 2 C. 5 × 2 D. 5 ÷ 2

4) Tom made eight dollars mowing lawns over the summer. If he charged four bucks for each lawn,
how many lawns did he mow?

A. 8 + 4 B. 8 - 4 C. 8 × 4 D. 8 ÷ 4

5) An architect was building a hotel downtown. He built it five stories tall with two rooms on each
story. How many rooms does the hotel have total?

A. 5 + 2 B. 5 - 2 C. 5 × 2 D. 5 ÷ 2

6) A delivery driver had to deliver eleven packages. At his first stop he dropped off three. How many
packages does he still have to deliver?

A. 11 + 3 B. 11 - 3 C. 11 × 3 D. 11 ÷ 3

7) Cody was helping his mom wash clothes. They washed two loads with nine towels in each load.
How many towels did they wash total?

A. 2 + 9 B. 9 - 2 C. 2 × 9 D. 9 ÷ 2

8) The mailman delivered fifteen pieces of mail to a house. If seven of the pieces were junkmail, how
many pieces were actually good?

A. 15 + 7 B. 15 - 7 C. 15 × 7 D. 15 ÷ 7

9) Ned was playing dodgeball with his friends and scored sixty-three points total. If he scored seven
points each round, how many rounds did he play?

A. 63 + 7 B. 63 - 7 C. 63 × 7 D. 63 ÷ 7

10) George was yard sale shopping. He ended up buying six video games, but only two of them
worked. How many bad games did he buy?

A. 6 + 2 B. 6 - 2 C. 6 × 2 D. 6 ÷ 2
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